oboob mmog 31

81 UDOOOoooDOd

,t 000000. 00000000 e*0O

at o= (a)” o at (at)?
O000000000000.0000=1000.000 00000000
googoo,

goooo.

gdbboU00boDbooooooboogg.

() 0000000

629

= cosf + isinf (8.1)

O0O00D00O0D0O0. 00ob0 e00O0OD0DOOM@DOO: cosh,sing OO0
gooooooog).

2 000200000 z,2000,eme2=e2t»200000000 @O 00:
0000000000000 OO00ODOOON).

20150 120 80 (OO 0O)



oboob mmog 32

82 OO UOUOOUDOOO

goodooogo @, oy ygd
guo.

(1) cos(#; + 6,) = cos By cos By F sin 0 sin Oy
(2) sin(f; + 6;) = sin by cos Oy £ sin Oy cos Oy
(3) cos26 = cos? 6 — sin? 6

(4) sin260 = 2sinf cosf
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